Form 3 JUNE EXAM MEMO 2017

QUESTION 1
1.1 B 1A 1
1.2 C 1
1A
1.3 C 1A 1
1.4 B 1A 1
2.1 _16a°h’ IA1IAIA |3
2.2 Y46 1A1A 2
2.3 X101 1A1A 2
2.4 4y* 1A1A 2
2.5 ) 1A1CA
Pl 1CA 3
2.6 1 5 2 -5 1A1A
2.7 2(7a+1) Ta+1 1A
4 2 1CA 2
2.8 (x=2)(x+2) x+1 2(x—2) 1A
x x —2)(x+2
4 (x=2)(x+1) x+2 X
_x=2 1A 2
2 (x-2)
1A 4
(x—2)(x+1
1CA
2.9 6(4x)—3(2x+1)+4(3—x) 1A
12 1A
24x—6x-3+12—-4x
ICA
12
14x+9 1CA 5
12 1CA
3.1.1 | Quadrinomial 1A 1
3.12 |4 1A 1
3.1.3 |3 1A 1
314 | 4—11x-2x"+3x° 1A 1
3.1.5 | 4-11(=3)-2(-3)* +3(-3)° 1A
=-62 ICA 2
31,6 | 4-11x-2x" +3x° —(2x* —4x—8) 1A
2 3 2
4—-11x—-2x"+3x" —2x" +4x+8 1CA 3
=12—7x—4x" +3x° 1CA
4.1 2a’b*c(ac’ +4b) IAICA |2
4.2 (3x—2)(3x+2) 1A1A 2




4.3 (a—8)a+2) 1A1A 2
4.4 , 9., 9 1ATA
a ——)a +—
( 4)( 4)
3 3 9
(a——)(a+—)(a2+—j ICAICA |4
2 2 4
4.5 (v =1)(4x* =25) 1A1A 4
(y=1)(2x—5)(2x+5) 1 CAICA
5.1.1 x=0 1A 1
5.1.2 3x+12=15 1A
3x=3 1CA
1CA 3
x=1
5.1.3 x+1-4=8x 1LCDI1C
-3=7x A
3 1CA
= 1CA 4
7
514 | pr—ps
s 1A 1
505 | (x=2)(x+2)=0 or x'=4 1A
x=2 -2 x=+4 1CAICA
=2 ;-2 3
5.1.6 —1+5<3x—-2x 1A
A<y ICA 2
52 | 2(2x)+3(x)=R35 1A
7x = R35 1CA
x=R>5 1A 3
6.1.1 | False 1A 1
6.1.2 | False 1A 1
6.1.3 | True 1A 1
b=90° (corr/'s equal’AB/ /CD) 1AIR
c=22° (alt£'s equal’AB/ /CD,STR —line) IAIR




622 | g=55 (corr/'s QT | /RS) 1AIR
b=55° (iso A ; sum L's A) IAIR
P=70 (iso A ; sum Z's A) 1A1R
—70° !
d=70 (altz's PR//ST) 1AIR
c=55° (opp £L's of parm) IAIR 10
6.3 x=85° (vert oppZ's) IA IR
85" +2z+32=180" (£'s on str line) 1A 1R
z=19° 1CA
y=95 (vert oppZ's,rev,Z's on str lin| 1CA 1R 7
6.4 p =40 (iso)) 1A 1R
g =100° (sum Z'sl) 1A 1R
_ 0 ' s [}
r=100 (altL's equal AD//BC,co—int /'s) LA IR 6
7.1 b=71 (oppZL's  parm) IA IR
a=180" (26" +71°)=83" (sums's [) 1A IR 4
7.2 E4 =90° (diag of rhombus) IA IR
c=180"-(90° +51°)=39° (sumZ's)) 1A 1R
_ 0 . . [
d =51 (diag bisect/'s) LA IR 6
8.1 52mm (opp sides parm =) IA IR 2
8.2 2x—20° = x+40° (opp Z's parm=) 1A IR 2
x = 60"
921 | MO*=2,5"+2,5 (pyth) 1A
1CA 2
MQ =/12,5=3,54
922 | 4,72 =2,5+PR’ (pyth) 1A
1CA 2

PR=4




